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�
CHAPTER OBJECTIVE





The continued existence of multinational companies depends on their ability to transfer their sources of domestic advantage to foreign countries. Chapter 17 considers several means--construction of new plants, mergers and acquisitions, joint venture, equity alliances, licensing agreement, franchising agreement, and contract manufacturing-- whereby multinational companies create, preserve, and transfer their oligopolistic advantages internationally. In addition, this chapter discusses direct investment in developing countries and cross-border mergers and acquisitions. 








Key Terms and Concepts





Foreign direct investment (FDI) is an investment in either real capital asset or financial asset with a minimum of 10% equity ownership in a foreign firm.





Equity alliance is an alliance where one company takes an equity position in another company, or each party takes an ownership in the other.





Licensing agreement is an agreement where an MNC (the licensor) allows a foreign company (the licensee) to produce its products in a foreign country in exchange for royalties, fees, and other forms of compensation.





Franchising agreement is an agreement where an MNC (franchiser) allows a foreign company (franchisee) to sell products or services under a highly publicized brand name and a well-proven set of procedures.





Contract manufacturing occurs when MNCs contract with a foreign manufacturer to produce products for them according to their specifications.





Merger is a transaction that combines two companies into one new company.





Acquisition is the purchase of one firm by another firm.





Tender offer is an offer to buy a certain number of shares at a specific price and on a specific date for cash, stock, or a combination of both.





Keiretsu is a Japanese word which stands for large, financially linked groups of companies that play a significant role in the country's economy.  





Under the pooling-of-interest method, the items on the balance sheets of the two companies are added together so that the merger would not create goodwill.





Under the purchase-of-assets method, the acquired assets or companies are usually recorded in the accounts of the acquiring company at the market value of assets given in exchange.





Synergistic effects of business mergers are certain economies of scale from the firm's lower overhead.








ANSWERS TO END-OF-CHAPTER QUESTIONS





1.	What are foreign market-entry alternatives?





Foreign market-entry alternatives are direct investment, licensing, and foreign trade. Many companies try to exploit foreign markets through exports first, then licensing, and finally direct investment. 





2.	Are US government restrictions on imports likely to increase or decrease foreign direct investment in the United States?





US government restrictions on imports are likely to increase foreign direct investment in this country because foreign companies need to replace their export sales with direct investment in order to maintain their business in the United States. For example, Japanese automakers have undertaken direct investment in the United States in order to avoid US protectionist actions and maintain a market position that they initially developed through exports. 





3.	It is fair to assume Toyota and Ford are automobile manufacturers that desire to benefit from economies of scale. Suppose that Toyota decides to establish distribution dealerships in foreign countries, while Ford decides to establish manufacturing subsidiaries in foreign countries. Which company is more likely to benefit from economies of scale? Which company has less to lose if the venture fails?





Chrysler is likely to benefit because it maintains all of its manufacturing facilities in one area. If Ford spreads its production facilities over many countries, it will incur higher fixed costs of machinery, executives, etc. Chrysler has less to lose if the venture fails. Ford is subject to a larger possible loss because the initial outlay on direct investment is larger.





4.	What are distinct alternatives available to companies for their foreign investment?





When a company decides to invest its money abroad, there are seven distinct alternatives available: construction of new plants, mergers and acquisitions, joint ventures, equity alliances, licensing agreements, franchising agreements, and contract manufacturing. 





5.	What is the major difference in mergers and corporate governance between the United States and Japan?





The market-based system of corporate governance used in the United States is characterized by a highly diversified equity ownership, a large portion of public debt and equity capital, and a relatively independent management team. The bank-based system of corporate governance used in Japan depends on a concentrated ownership in the hands of a main bank and the firm's business partners for both debt and equity capital. 


In the United States, management is much more likely to be disciplined through either friendly takeovers or hostile takeovers. Corporate control contests in the United States tend to be large-scale, aggressive, financially motivated, and arm's-length deals that often involve private investors and other corporations. Hostile acquisitions frequently provoke equally forceful defensive maneuvers by the management of target firms. 


In Japan, corporate takeovers are typically managed from inside rather than in the public markets by the company's main bank, by its business partners, or by both. Hostile acquisitions are almost non-existent in Japan due to the concentration of equity ownership in the hands of the main bank and other keiretsu members.





6.	Discuss some reasons for the recent decline of foreign direct investment in developing markets.





The dip in FDI flows in 2002 was almost entirely due to the decline in flows to Latin America and the Caribbean. Three factors accounted for that decline. First, the regional recession undermined incentives to invest in the region. Second, no large mergers and acquisitions of the kind that inflated the inflows numbers in recent years occurred in 2002. Finally, the process of privatization has moved toward completion.   





7.	Explain why mergers are often more difficult to evaluate than the establishment of new production facilities.





Mergers are often more difficult to evaluate for several reasons. First, the financial manager must be careful to define benefits. Second, the financial manager needs to understand why mergers occur and who gains or loses as a result of them. Third, the acquisition of a company is more complicated than the purchase of a new machine because special tax, legal, and accounting issues must often be addressed. Finally, the integration of an entire company is much more complex than the installation of a single new machine. 





8.	What are factors affecting international acquisitions?





A company's acquisition of another firm is economically justified only if it increases the total value of a firm. A company's acquisition of another firm tends to increase the value of the acquiring firm because it would enjoy larger earnings before taxes, tax benefits, lower capitalization rate, and larger debt capacity. In addition to these benefits, other factors affect international acquisitions favorably: exchange rate movements, country barriers, and strategic choices, to cite a few. 








ANSWERS TO END-OF CHAPTER PROBLEMS





1.	Assuming a 40-percent tax rate, the $50,000 tax loss carryforward will shield $20,000 of profit from taxes immediately; this tax shield will reduce the purchase price to $980,000 ($1,000,000 - $20,000). The market value of the British company is $1 million [($90,000 + $10,000)/0.10]. The acquisition appears to be a desirable alternative for the expenditure of cash because GM's purchase price ($980,000) is lower than the market value of the British company ($1 million). 





2a.	The WACC for the domestic firm is 13 percent [(0.20 x 0.01)(1 - 0.50) + (0.80 x 0.15).] The WACC for the multinational company is 10 percent [(0.50 x 0.10)(1 - 0.50) + (0.50 x 0.15)]





2b.	Market values are $76,923 for the domestic firm ($10,000/0.13) and $100,000 for the multinational company ($10,000/0.10).  





3a.	EPS of GM	= 0.85 x $5 + 0.05 x $8 + 0.10 x $10


= $5.65


EPS of Toyota = 0.40 x $8 + 0.35 x $5 + 0.25 x $10


                                     = $7.45





3b.	GM is likely to face a competitive disadvantage because of its heavy concentration in the United States for its sales. Assume that Toyota reduces its U.S. prices by 20 percent in order to gain market share in the United States. If GM responds with its own price cut, it will lose profit on 85 percent of its sales. Toyota, however, will lose profit on only 35 percent of its sales. 





4a.	Price per share = [(price per share (LT)/earnings per share (LT)] x earnings per share (FM) = ($40/$4) x $2 = $20. 





4b.	Price per share = [market value (LT)/book value (LT)] x [book value (FM)] = ($40/$20) x $16 = $32





4c.	Price per share = [dividend per share in year 1 (FM)]/[cost of equity (LT) - dividend growth rate (FM)] = $1.50/(0.14 - 0.04) = $15   





Thus, because the French company has 1 million common shares, its market value ranges from as low as $20 million to as high as $32 million 





�
ANSWERS TO END-OF-CASE QUESTIONS





1.	Explain how BP Amoco could cut $2 billion in costs and boosted annual pretax profits by a few hundred million dollars for the first two years. 





This merger creates opportunities and a large physical size for synergistic effect. In fact, BP Amoco slashed far more than the 6,000 workers originally planned, with 10,000 workers fired by March 31, 1999. Most of these 10,000 workers fired came from Amoco's US interests. At that time, the company said that "it can achieve the projected $2 billion in cost savings this year, a full year ahead of schedule." 


Of course, there are additional opportunities to eliminate duplicate facilities and consolidate the functions of production, marketing, and purchasing. For example, the case said that there are a variety of synergies that would enable BP Amoco to save more than the projected $2 billion worth of savings. BP and Amoco have their separate operations in several countries, which would allow the combined company to consolidate two separate operations in each of these countries. Other synergies would come in deeper water exploration and production where BP would bring its expertise to Amoco's fields in the Gulf of Mexico. Similarly, the deal could combine Amoco's lower development costs with BP's cheaper findings costs. Furthermore, this merger allows BP Amoco to acquire necessary management skills and spread existing management skills over a larger operation. These types of operating economies and better management can cut the company's costs and increase its profits. 





2.	Explain how this merger could reduce its cost of capital substantially. 





An important advantage of major mergers such as the BP-Amoco merger is the fact that earnings of larger, more diversified companies are capitalized at lower rates. The securities of larger, more diversified companies have better marketability and lower risk than those of smaller companies. Larger companies are also better known among investors. This merger can develop these and other factors, which lead to the lower required rate of return. 





3.	Why did BP treat its merger with Amoco as a pooling transaction rather than a purchase transaction?


 


Under a purchase-of-assets accounting treatment, any excess of purchase price over book value must be recorded as goodwill and written off over a period of years. If a company purchases a firm with a $4 billion book value for $6 billion, $2 billion of goodwill is created on the books of the acquiring company. If this $2 billion must be written off over a period of 10 years, it would cause a $200 million-per-year reduction in reported earnings ($2 billion/10 years). Because the writing off goodwill is not a tax deductible expense, the company suffers the full amount of the deduction without any tax relief. To avoid such a dilution of earnings, BP treated its merger with Amoco as a pooling of interests transaction, under which the financial statements of the companies are combined and thus no goodwill is created. 





4.	Explain how the BP-Amoco merger could boost its shareholder wealth as reflected by its stock price. According to the case, the combined company did not earn more money after the merger, but its stock price increased. How do you explain this apparent conflict between earnings and stock price?





It is important to remember that the value of a firm is earnings divided by the cost of capital or the capitalization rate. The answer to Question 1 indicates that the BP-Amoco merger would boost its earnings, thereby increasing its market value. The answer to Question 2 indicates that the merger would reduce its cost of capital substantially, thereby increasing its market value. The combination of these two factors--higher profits and lower cost of capital--could magnify BP Amoco's market value. In other words, the combined company's value is likely to exceed the values of BP and Amoco operating separately. 


First, although earnings and stock price move in the same direction for most of the time, there are times that these two will move in different directions because earnings do not take risk into account and stock price takes risk into account. Second, stock prices do not depend on current or past earnings but depend on expected future earnings. Investors usually believe that any merger is unlikely to create immediate benefits but to result in higher earnings over time. Third, BP's pooling accounting transaction would not dilute future earnings per share for BP Amoco. In some past purchase transactions, earnings per share declined as result of the accounting treatment and thus stock price also declined. Finally, by growing closer to the size of Royal Dutch/Shell or Exxon, BP stated that the combined company would command the higher price-earnings ratios enjoyed by these two companies. 


      


5.	Briefly explain American depository receipts. The last closing price per share for Amoco stock was about $52. What was the closing price of BP American depository receipts (ADRs) on its last trading day?


  


American depository receipts (ADRs) are negotiable certificates that represent underlying shares of a foreign company other than the United States. The closing price of BP ADRs for December 30, 1998 can be determined by the following equation: exchange ratio = [per share price of the acquired company + any premium paid]/per share price of the acquiring company]. To obtain the closing price of $91 for BP ADRs, solve 0.66 = [$52( 1 + 0.15)]/BP price, or BP price = $59.8/0.66 = $91. 





6.	Some websites, such as www.dbc.com and www.quicken.com provide many pieces of information about publicly held companies for investors. Use several websites of your choice to compare some key financial statistics of BP Amoco with those of its major competitors.
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